T&T6 3.3 Complex Division November 11, 2014

{ Example 3 )

Given that (z + 1)(2 — i) = 3 — 44, find z in the form .« + yi, where x, y € R.
bt 2= x+7i
eyt > (x+7.'+n)(a.-i)=2—€r:
expo~ol  LHS .-;(xqu—:)-: (x+;;+:)—,3—w.-
2 2 + 2L w[x:t?f_,’ = D=L
Re = le Ik 424y =2 > [2x4y = 1] @
e ot B
Solue. : o +\a,
2@ | ~Ax+lu
Sv’-S’ = ‘a_':_-\
Su,b -l | info Ax =1 =|
; @ Ly = 2 = K=
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( Example 4 )
Express v5 + 12i in the form of a + bi, where a.b € R.

b [stzi = atli

VTS 5+ (2 C‘H—“.)t
(@+b)*= a“¥isk +4* a*+2ab| ¥ L'/'(

A+ 2aly —b™

iy

\

S+12;

be=fe |[5=a=4"]@
Inn = la 2= 2ab = [ =abl® .,a=%

Solve teonte. () 5= (&\"- |*
Subs ik (D (b)
€= 3 -L*

xh?! | bt = 26 =LY D L*+5b*-3&=0
Solve kau FacTor se (b': + a4 YL Y ) =
%M‘IOM e e
waolLate a t =18

7 SowTens b_-\-glx, b=ta / Suca b € R

Sl L=%a wo (D S aa=¢4, 3 a=2
a=6/lz2 H a=-3

Tido ANSUBES PAsisee  efloe SSyiai = 342i e ST ==3-21
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5. Simplify each of the following.

3+ 4i) + (2 + 1)

@ =i

Sin.fﬂf'a, uwanesefor.

Pokownolise danoininetne.

PaTS
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Gy —3i)(z-20)
(at2iXNa-2:)

~2 +2.-|biFIbi*
ar+a*

=

= - -14i

g

6. Find the values of x and y in each of the following:

T+
@.rer:,—z_{

DTS

(1v) x+yi=

G4+ )('L-I—ﬂ
2-i)(2+i)

= 14 +Fi+2; I'/t
2" + 1

= 13 +9i

(2 — 3i)?
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